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15612500 <wg pwpén nbuwyh Q2 Uq 4 180,0 .
15612100 Uynip puipsp nbuwlh 4 Yg 342,0 -
15313000 Ywpuinnghy Q. yg 3420,0
15331142 “Ywnwdp Q. yg 1292,0
15331139 Lnihy Q2 Ug 342,0 -
15331166 Ywpnilg 4 e 342,0 -
15331161 Unfu Q. s 190,0 -
15331171 Mnwtin l.{lu'uwg Q2 Ug 90,0 -
15331167 Ywlwsh fuwnp Y4 e 57,0 -
03221126 Uwnn| Q2 Ug 11,0 -
15331160 '}rp.fhl.{ Q2 e 57,0 -
15331160 nnwd %4 lg 46,0 -
15331165 Uhuinnp 4 e 2,0
15331164 Ywqup Q2 lg 228,0
15331163 Pwgndy Q2 lg 152,0
15331168 Udpnwy Q2 lg 38,0
03221420 OQwnywlwnuwip Q2 el 19,0
03222128 Fuhénp Qz lg 608,0 -
03222132 "Hind 4 Ug 152,0 -
03222100 Pwuwl Q2 Ug 319,0 -
03222119 Lwnhuy Q2 e 213,0 -
03222121 U'luhr}u.lnhb Q2 g 95,0 -
03222134 Uwjnp qQz g 76,0 }
03222131 Ohpuwl a2 | ug 68,0 .
03222118 Yhupnt Q2 e 5,0 -
03222113 Quiths Q2 g 3,0
15321000 <Jnye pghiph Y4 L 710,0 -
15321200 Yhuby Q2 tnnuh 1105,0
15842100 Cnynjwnwujwin Ynupbinubp [qz g 76,0 -




15842310

Ynudbitn Ywpwdl Q. g 76,0
15842300 (Huwépwpihe Q2 yg 152,0
15842300 Ywdih Q. g 152,0
15831000 Cwpwnwyuwgq %4 el 798,0
15332240 Uwpdbjwn %4 g 143,0
15811130 Pnyyh Q2 g 380,0
15332291 RbJ 1 Q2 Ug 95,0
15332297 Qb 2 @2 | Ug 95,0
15332230 Unipwpw Q2 g 23,0
15841100 Ywlwn Q7 g 14,0
Uhu vnwywph nbnwlw
15111120 huithndy m Ug S
15112180 <wyh pnin Q. el 342,0
15112110 wyh Ypdpwdpu Q. Ug 342,0
15511200 Ywp Y4 L 958,0
15542100 “wplwonn Q. el 95,0
15512000 [Gpywubip Q. lg 42,0
15541100 Mwuhp Lnnh Q2 el 106,0
15530000 “Ywpwgq qbwunwywy Yuwd g
hwdwndbp Q2 418,0
15551600 Uwdniu 4 el 1520,0
15511600 funwgpws Ywpe Q2 Ug 456,0
15421100 dbp (pniuwlw( Jnin) Q2 L 418,0
03142520 dnt Q2 hwn 11 400,0
15872400 Un Yepwlyph Q2 g 228,0
15863100 (ah 4 el 3,0
15871257 Unwguws wnujtin Yyundhp g
___pbwngp Q2 2,0
15872310 Trwithubinbpl Q2 el 2,0
15898000 fudnphy (npnd) Q2 Uq 0,3
15872600 Unnw %4 g 3,0
15333100 Sndwinh dwdnly 4 g 91,0
15870000 Ywuhihtu Q2 el 1,2
03221117 Ainn (ntinha) Q2 lg 174,0
15331180 NMwhwdnjwgyws ninn Q2 el 109,0
15331187 Eahwwnwgnpbt wwhwsn Q2 Ug 73,0
15331152 Uhutin Q2 Yg 23,0
15331151 Lnph hwunhy Q2 Ug 46,0
15331153 Nuuy .4 Ug 266,0
03211300 Pphua Q. g 456,0
15616000 <unwdwyuwp Q2 Ug 380,0
15617000 Snpblwdwywp Q. el 213,0
15619000 Lwbwp 4 g 46,0
15618000 Pinnip Q. Ug 34,0
L{wnquwde[wph thwpehjutip
15613350 (hbglinutu) ” lgq .
15850000 Ybpdholy Q. el 228,0
15851100 UwYwnnu Q2 Ug 228,0




